Worksheet 2 * Grade 3 Name:

First, listen to the performance of Johannes Brahms’ Hungarian Dance No.5, then answer these
questions.
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Complete the sentences with words from the cloud.

string

Tehaikovsky Romant;
Wagner omantic German

Vienna orchestra

The type of musical group heard in this video is an (1)
An orchestra consists of four different families of instruments. They are (2) , wind,
brass and percussion.

Brahms lived between 1833 and 1897 and is generally considered to be part of the

(3) era of music.

Brahms was (4) , but spent much of his professional career living and working in
the city of (5) , in Austria.

Some other well-known composers from this era include Richard (6) and Pyotr
Ilyich (7)

Class discussion:
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Was this music the same all the way through?

How did the different sections vary?

Why do you think the composer chose to vary the music in this way?

Think about it:
Do you like listening to music for large orchestras?

Why, or why not?
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